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W1 5 0.25 35 4.375 1 55 10.938 | 10.938 | 60.156
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W5 0.25 35 4.375 45 14 10.938 | 49.219 | 153.125
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Xeg Yeg
6 21 243.25 7.241 | 7.375
5 17.5 269.5 7.24 7.379
4 14 269.5 7.24 7.379
3 10.5 269.5 7.24 7.379
2 7 269.5 7.24 7.379
1 3.5 269.5 7.24 7.379

Total: 1590.75
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W3 X 4.5 0.25 | 8.25 1.5 | 0.0041 | 1.3289 | 0.0338 | 1.9934
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€ = Eyg—g) T —Exsyy) = —1.178 — 0.75 = —1.928 m
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X |y 8 9 Ix ly .82 | 1,92 | Fy Fx

w1 1 5.5 | -7.418 | -2.377 | 1.8229 | 0.0046 [100.309| 0.026 |22.481 | -0.003

w2 14 | 9.75 | 5582 | 1.873 | 2.4263 | 0.0050 | 75.600 | 0.018 |21.216 | 0.003

W3 | 825 | 15 | -0.168 | -6.377 | 0.0041 | 1.3289 | 0.000 | 54.041 | 0.042 | -2.339
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